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QUESTION 1

You add a new work group to an application. Which two organization rules do you need to update? (Choose Two)
A. Class groups

B. Work queue

C. Operator ID

D. Unit

Correct Answer: BC

QUESTION 2

You are tasked with configuring a screen flow. The requirement states that every step in the screen flow must be
executed sequentially.

Which of the following two options do you select on each assignment shape to configure the screen flow to meet this
requirement? (Choose Two)

A. Only allow navigating back to this step

B. Save on last step

C. Perform post-processing when navigating away from step
D. Enable navigation link

Correct Answer: AD

QUESTION 3

The customer, a medium size toy maker, wants to fulfill orders received during the peak season in December and
process them in batches multiple times a day.

How do you implement this use case?

A. Create a queue processor that can process orders received by the company.
B. Create one scheduled job and select its run schedule as multiple times a day.
C. Create batches of orders and send each batch for processing when it gets full.

D. Create scheduled jobs, one for each run, that can process accumulated orders.
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Correct Answer: B

QUESTION 4

Which layer of the Enterprise Class Structure contains generalized assets that are then extended by specific
implementations?

A. Organization
B. Framework

C. Implementation
D. Division

Correct Answer: B

QUESTION 5

Which requirement do you satisfy with an Access When record?

A. Managers can perform an optional action to transfer a case to another workbasket, but users cannot.

B. Accountants can edit a purchase request only if the case was created by a member of their assigned department.
C. Government regulations require that you explicitly block user access to personally identifiable information.

D. Company policies require that you only allow managers to run reports on purchase requests.

Correct Answer: B

QUESTION 6

A global application with infrastructure nodes located throughout the world requires certain operations to start executing
at midnight GMT.

Select two possible designs for this use case. (Choose two.)

A. Use the Run in background step in the case life cycle and design a dedicated queue processor.
B. Use the Queue-For-Processing method in an activity and design a standard queue processor.
C. Use the Queue-For-Processing method in an activity and design a dedicated queue processor.

D. Use the Run in background step in the case life cycle and design a standard queue processor.
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Correct Answer: AC

QUESTION 7

Which feature would you use to implement the System of Record (SoR) pattern?
A. The copy data from a data page option on a property

B. No specific feature -- just use a data page directly in the application

C. The Property-Ref activity method

D. The refer to a data page option on a property

Correct Answer: D

QUESTION 8

You need to localize correspondence into a language that is unavailable in the Pega language pack. Which option
satisfies the requirement?

A. Run the Localization wizard and add translations to Translation.html.

B. Create the Translation rule manually and include the rule in the application ruleset.
C. Leverage translation services SOAP calls and enable records for translation.

D. Configure a field value record that contains the correspondence text.

Correct Answer: A

QUESTION 9

Which option represents the relationship between mixins, controls, and formats?
A. A control specifies a format which uses a mixin.

B. A control specifies a mixin which defines a format.

C. A format uses a mixin that defines a control.

D. A mixin specifies a control which defines a format.

Correct Answer: A
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QUESTION 10

A user has the following rulesets in their ruleset list: TGB:01-01 TGBInt:01-01 LoanShrk:01-01 LoanShrkPrime:01-01
LoanShrkint:01-01 There are six instances of CollectBorrowerDetails in the rules cache as indicated in the table below:

InstanceApply to: Ruleset Availability

one o FWLISIN yepargt.05 Withdrawn
Work

Two oBFWLoanShrk- 16p.01.01-03 Yes
Work

Three TGB-FW-LoanShrk- LoanShrkPrime:01-01- Withdrawn
Work 05
TGB-FW-LoanShrk- LoanShrkPrime:01-01-

Four Yes
Work 01

Five  TGB-FW-LoanShrk ggBS”bP”mE:m'm' Yes

Six  TGB-FW-LoanShrk '&?E"Sh’kp"mem'm' Yes

A rule with an Apply to: class of TGB-FW-LoanShrk-Work-AutoLoan calls CollectBorrowerDetails. Which rule is selected
from the rules cache during rule resolution?

A. Instance Four
B. Instance Six
C. Instance Five
D. Instance Three
E. Instance Two
F. Instance One

Correct Answer: B
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QUESTION 11

How do you test Ul forms for suitability for users with visual disabilities such as Deuteranopia (red-green confusion) or
Tritanopia (yellow-blue confusion)?

A. Enable the Live Ul tool.

B. Use the Accessibility Inspector.
C. Unit test section rules.

D. Use a screen reader.

Correct Answer: B

Reference: https://community.pega.com/knowledgebase/articles/whats-new-pega- platform/find-and-fixissues- using-
accessibility-inspector

QUESTION 12

An application contains a case type named Time Off. HR requests a report that returns the ID and name of any
employee for whom an open Time Off case exists.

The ID and Name properties are defined for the class Data-Employee-, and an ID property is also defined for the Time
Off class. The ID property points to records in Data-Employeep.

Select the approach you use to create this report.

A. Create a report in the Employee class, with a class join to the TimeOff Class.

B. Create a report in the TimeOff class, with a class join to the Employee class.

C. Create reports in both classes, and set the TimeOff report as a subreport of the Employee report.
D. Create reports in both classes, and set the Employee report as a subreport of the TimeOff report.

Correct Answer: A

QUESTION 13

A defines the look and feel of an application.
A. Format

B. control

C. skin

D. mixin

Correct Answer: C
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QUESTION 14

The purpose of a Circumstance Template is to

A. provide a template for business users to change circumstances when completing a task
B. provide a list of all potential circumstances in one place

C. define the properties used in a circumstance

D. define the values used in a circumstance

Correct Answer: C

QUESTION 15

Which two types of records does the External Database Table Class Mapping wizard create? (Choose Two)
A. The Database data instance

B. The Property rules used to map to the table columns

C. The Database Table data instance

D. The Connect SQL rule used to retrieve the data

Correct Answer: BC
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